Steps: (1) Divide  (2) Multiply ~ (3) Subtract  (4) Bring down the next number  (5) Repest if needed
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Steps. (1) Divide

(2) Multiply

(3) Subtract

(4) Bring down the next number

(5) Repeat if needed

Also see our Worksheets and Walkthroughs video: "Division - Traditional Long Division Algorithm Method Word Problems’

@ 1082 @ 613 @ 1075
560881 | 606915011 651892 | 400185421 383559 | 412499303
- 560881 (1x560881) - 3911352 (6x651892) - 383559 (1x383559)
460340 905022 289403
-0 (0x560881) - 651892 (1x651892) -0 (0x383559)
4603401 2531301 2894030
- 4487048  (sxse0ss1) - 1955676 (3xesiee) - 2684913  (7xss3559)
1163531 Remainder > 575625 2091173
- 1121762 (2xssose1) - 1917795 (5x38300)
Remainder --> 41769 Remainder --> 173378
@ 372 ®) 620 ®) 652
349625 | 130374717 647969 | 402111733 977618 | 637519345
- 1048875 (3x349625) - 3887814 (6X647969) - 5865708 (6x977618)
2548721 1333033 5094854
- 2447375  (7x34%25) - 1295038 (2xe47969) - 4888090  (5xgreis)
1013467 370953 2067645
- 699250 (2x349625) - O (ox64799) - 1955236 (2x9rses)
Remainder --> 314217 Remainder --> 370953 Remainder --> 112409
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